Subject: Table D.4 Births by calendar years- 2013 NDHS
Posted by omogeonago on Tue, 16 Jun 2015 14:08:39 GMT

View Forum Message <> Reply to Message

Reposting because | got no response to my earlier post dated 10 June. Thanks

Hi,

| am trying to replicate "Table D.4 Births by calendar years" on page 399 of the Nigeria 2013 final
report. Using the birth recode dataset with weights applied, | tabulate variable "b2" but my
numbers don't align at all with the report. However, when | use the same code with the Burkina
2010 birth recode in order to replicate the same table i.e. "Tableau C.4 Naissances par année

de naissance" on page 363, my results match the numbers in the Burkina report. Similarly, when |
do the same for Congo DR 2013/14, my numbers match those in the report.

Can you please let me know if the calculation of this table is different for Nigeria. Thanks

gen wt=v005/1000000

egen strata=group(v024 v025)

svyset [pw=wt], psu(v021) strata(strata)

svy:tab b2, missing count stubwidth(20) format(%11.109)

svy, subpop(if b2==2010):tab b5, missing count stubwidth(20) format(%11.109)
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